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Directions (1-10): 8«1 W&t &, &l FHAFIOT 13X 11 AT 1T §1 Q= TR0 A g
& AR 3T QfT-

I.x*-208 =233
Q1. ILy*+47-371=0

(a)xzy

(b)x<y

(Ax<y

(d) x>y
(e)x=yﬂTx3~ﬁTy$é’lﬂﬁ’d’UFﬂTﬁT—fﬂﬁ%&TmW%
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I.x*-9x+18=0
Q2. II.5y% - 22y + 24 =0
(@) Tfex<y
M) I x>y
(@ 3fgx<y
(IEx2y

(e) I x =y AT x 3R y& g F&er T g fohar o1 dshar g
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L6x?2+11x+5=0
Q3_II.2y2+5y+3:0

(a) AR x <y
(D) x>y
(@ afx<y
(M aRxzy



()T x=y AT x3R y& &g d&E TAMAT T fhdT ST Gohal &
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Lx*+10x+24=0
Q4. IL.y*-v625 =0
(@3Tfex<y
)T x>y
(@ 3fgx=<y
(I x2y

(e) T x =y AT x 3R y& o Faer T =g fovar a1 ahar g
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I.V500x — V402 = 0
Q5. 1. /360y — (200)/2 =0
(a)xzy
(b)x<y
(x<y
(d) x>y
(e)x=y IT xR y& &g Teyg Tad w161 har o1 Thar g
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L6x>+5x+1=0
Q6 ”.15y2+8y+1:0

(@)xzy

(b)x<y

(A x<y

(d) x>y
(e)xﬁ?y?ﬁﬂﬁﬂ?ﬂﬁﬁﬂﬁmmm%
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Lx*+5x+6=0
Q7. I.4y* + 24y +35=0
(@)xzy
(b)x<y
() x<y
(d)x>y
(e)x 3R yF g ey Tafia A&T fFar ST Thar g
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.2x*+5x+3=0
Q8. II. yz + 9y+ 14 = 0

(a)xzy

(b)x<y

(Ax<y

(d) x>y
(e)xﬁ?y?@ﬂﬁﬂ?ﬂﬁﬁﬂﬁmmmﬁ
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.88x*-19x+1=0
Q9. I.132y*-23y+1=0
(a)xzy
(b)x<y
(c)x<y
(d) x>y
(e)x 3R y & &g Ty Tafia Agr fhar ST ThaT g
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L6x*-7x+2=0
Q10 II. 20y*-31y +12=0

(@x=y

(b)x=<y

(c)x<y

(d) x>y

(e)x 3R y & ora Ty Tafa Agr fohar ST ThaT §
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Directions (11-15): f#=1faf@d 9eail & fATRT A AT ST

Q11, 8599.999 + 420.002 X 14.996 =7

(a) 250

(b) 325

(c) 275

(d) 307

(e) 315
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Q12. V2703 — /1156 + /483 =7

(a) 50

(b) 90

(c) 40

(d) 20

(e) 30
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Q13. 3001 x 749 = 1001-1399 =7
(a) 650

(b) 700

(c) 950

(d) 850

(e) 1000

L1Difficulty 2

QTagsApproximation
QCreatorPaper Maker 10

0 =7
Q14. 149.9% of 149.9 4+ 1499 =7

(a) 375

(b) 400

(c) 350

(d) 425

(e) 450
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989 _ 65 _, 515
: X

Q15. 34 ~ 869 207
(a) 840

(b) 920

(c) 970

(d) 780

(e) 1000
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I
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Solutions

S1. Ans.(e)
I.x* - 208 = 233
= x° =441
= x=21,- 21
ILy*+47-371=0
= y* =324
= y=18,-18
o). No relation between x and y

$2. Ans.(b)
Lx*-9x+18=0
x?-6x-3x+18=0
X(x - 6) -3 (x-6) = 0
(x-3) (x-6)=0
x=3,6
IL 5y° - 22y + 24 = 0
5y* - 10y -12y+24=0
Sy(y-2)-12 (y-2)=0
(v-2) (5y-12) =0

Sol. v

S3. Ans.(d)



I.6x*+11x+5=0
6x°+6x+5x+5=0
bx(x+1)+5(x+1)=0
(x+1) (6x+5)=0

5

x=—1,-¢

IL 2y* +5y+3=0
2y°+2y+3y+3=0
2y(y+ 1)+ 3 (y+1)=0

(v+1)(2Zy+3)=0
3

V= —:[J—E

Sol.

S4 Ans.(e)
Lx*+10x+24=0
X*+6x+4x+24=0
X(x+6)+4 (x+6)=0
(x+4) (x+6)=0
x=-4, -6
ILy? - 625 =0
y? =625
y? =25,y = 45
* Relationship between x and y

Sol cannot be determined

S5. Ans.(d)



I.500x — /402 =0

= 500x =402
= x= % ~ 0.8
IL /360y — /200 = 0
200
= !,F = ﬁ
5 P
=y= 5™ 0.56
Sol. * 7 ¥
S6. Ans.(b)

L.6x° +5x+1=0
= (3x+1)(2x+1)=0
- x=—2, 1
3 2
IL 15y +8y+1=0
= (3y+1)(5y+1)=0
1 1

= y= —=, —=
y 3' 5

= X<y
Sol.

S7. Ans.(e)
Lx*+5x+6=0
= (x+3)(x+2)=0
= x=-3,-2
IL 4y® + 24y +35=0
= 4y° + 14y + 10y + 35=10
= (2y+7)(2y+5)=0
g0l NO relation between x and y

S8. Ans.(d)



.2x"+5x+3=0
= (2x+3) (x+1)=0
3

= x=—--,—1
2

ILy*+9y+14=0
= ([y+7)(y+2)=0
= y=-7,-2
Sol. T X7V
S9. Ans.(a)
I.88x% - 19x+ 1 =0
= (Bx-1)(11x-1)=0
11
= x=-,—
8 11
IL 132y°-23y+1=0

= (11ly-1)(12y-1)=0
11
SYT R

= X2y
Sol.

S10. Ans.(c)
L6x*-7x+2=0
= 6x° -4x-3x+2=0
= (3x-2)(2x-1)=0

IL 20y* -31y+12=0
= 20y* - 16y - 15y + 12=10
= (5y-4)(4y-3)=0

Sol.
S11. Ans.(d)

7~ 8600+420 % 15
Sol. =307

S12. Ans.(c)
?7>52-34+22
Sol. =40

S13. Ans.(d)



- 3000 x 750

1000
>~ 850

1400

Sol.

S14. Ans.(a)

150
7> ——x 150+ 150
100

Sol. 375

S15. Ans.(c)
990 870 515
o X X
34 65 207
=970

Sol.



